
Incremental Model: 

Incremental Model is a process of software development where requirements divided into multiple 

standalone modules of the software development cycle. In this model, each module goes through the 

requirements, design, implementation and testing phases. Every subsequent release of the module adds 

function to the previous release. The process continues until the complete system achieved. 

 

 

The various phases of incremental model are as follows: 

1. Requirement analysis: In the first phase of the incremental model, the product analysis expertise 

identifies the requirements. And the system functional requirements are understood by the requirement 

analysis team. To develop the software under the incremental model, this phase performs a crucial role. 

2. Design & Development: In this phase of the Incremental model of SDLC, the design of the system 

functionality and the development method are finished with success. When software develops new 

practicality, the incremental model uses style and development phase. 



3. Testing: In the incremental model, the testing phase checks the performance of each existing function 

as well as additional functionality. In the testing phase, the various methods are used to test the behavior 

of each task. 

4. Implementation: Implementation phase enables the coding phase of the development system. It 

involves the final coding that design in the designing and development phase and tests the functionality in 

the testing phase. After completion of this phase, the number of the product working is enhanced and 

upgraded up to the final system product. 

 

Evolutionary model is a combination of Iterative and Incremental model of software 

development life cycle. Delivering your system in a big bang release, delivering it in 

incremental process over time is the action done in this model. Some initial requirements and 

architecture envisioning need to be done. It is better for software products that have their 

feature sets redefined during development because of user feedback and other factors. The 

Evolutionary development model divides the development cycle into smaller, incremental 

waterfall models in which users are able to get access to the product at the end of each cycle. 

Feedback is provided by the users on the product for the planning stage of the next cycle and 

the development team responds, often by changing the product, plan or process. Therefore, the 

software product evolves with time. All the models have the disadvantage that the duration of 

time from start of the project to the delivery time of a solution is very high. Evolutionary 

model solves this problem in a different approach.  

 

Evolutionary model suggests breaking down of work into smaller chunks, prioritizing them 

and then delivering those chunks to the customer one by one. The number of chunks is huge 

and is the number of deliveries made to the customer. The main advantage is that the 

customer’s confidence increases as he constantly gets quantifiable goods or services from the 
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beginning of the project to verify and validate his requirements. The model allows for 

changing requirements as well as all work is broken down into maintainable work chunks.  

Application of Evolutionary Model: 
1. It is used in large projects where you can easily find modules for incremental 

implementation. Evolutionary model is commonly used when the customer wants to start  

using the core features instead of waiting for the full software. 

2. Evolutionary model is also used in object oriented software development because the 

system can be easily portioned into units in terms of objects. 

Necessary conditions for implementing this model:- 
 Customer needs are clear and been explained in deep to the developer team. 

 There might be small changes required in separate parts but not a major change.  

 As it requires time, so there must be some time left for the market constraints. 

 Risk is high and continuous targets to achieve and report to customer repeatedly. 

 It is used when working on a technology is new and requires time to learn. 

Advantages: 
 In evolutionary model, a user gets a chance to experiment partially developed system. 

 It reduces the error because the core modules get tested thoroughly. 

Disadvantages: 
 Sometimes it is hard to divide the problem into several versions that would be acceptable to 

the customer which can be incrementally implemented and delivered. 

 

 

 


